AP Human Geography

Kubenstein Chapter 9: Det/e/o/omenz‘
Getided eaa’/ng Huestions

/\/a/)?e-'

I. WAt are the three basic wa/s Aumans earn a //\///73.7

2. The development process is continuous,

3. What are Zhe c/m//enge\s for more c/e\/e/opea/ regionS 7

4. What are Zhe c/m//enge\s for less a’e\/e/opec/ Cowurntries?

5. What does a z‘ypiaa/ worker receive per hour in an MDC copipared Co Soreone

wor /‘ng in an LDC?

G- A)/7y /s tAhe average per capita income /7/:9/7er in MDCs than LDCs?

7. The First priordy Ffor all pecple is what?

$. What does a AHigher percentage of agricultural / primary sector workers
indicate?

9. What does a srall percentage of agriculiural / primary sector workers
indicate?

10. Yo does a /arger per capita GDP help developed countries in terms of

productivity? Ex: Zdractor vs. oxen..makesS Sense...



. ZIn a 3/05@/ eConomy/, AT measuresS a CouUntry s devel/opment potential ratter
than its actual developrient?

12. What three conscmer 3000/5 are 3ood indicators of a Soc/ez‘y ‘s a’e»/e/opmenl‘?

13. What do MDCs wuse Zherr 3reafer wedalth for? What does 2hs reswl/d in?

ly. LWhat kind of impact does educdation have on MDCs & [DCs?

15. Whdat influences Che health of a populadion?

6. A)/7y /s Che infand morz‘cz//z‘y rade 3reafer n LDCs?

IZ. A)/7y do women in MDCs choose Lo have Ffewer babies?

I$. DesScribe whad 2hey mean éy the " north-south Sl "

19. 4n3/o—4mer/can /s Zhe /ecza’/ng provider of what'?

20 How did testern Europe mantan its /7/3/7 leve! of developrment then & now?

21 YWow has qupan become such a 3reaz‘ industrial pocoer?

22.Describe the c/e\/e/opmenz‘ of

a. latin America:

4. tast Asia



c. Southeast Asia:

d. Middle éast:

e. South Asia:

£ Sub-Saharan Africa

23. A)/@/ do you 2hink the lowest GDI is in sub-Sakharan Africa?

24. What are tewo ,éey social indicalors of gender differences?

25.Yow much do one — Fifth of the toorld's pecple //\//ng in MDCs conswume? Yoo
mech does 14% of the world's pecple //\/1‘/73 in Africa consume?

2¢. WA Ceo fundamental obstacles do [ DCs Ffuce in iry/ng Zo a’e\/e/op rqp/d/y?

2%F. Yoo does the Selt- —sufficiency approach help countries?

25. WAl are Some problems with the selt —sutficiency approach?

29. \/ery Imporz‘anz‘..,( ostow s Developrient Mode!.. knoeo 2!

30. Whad are sore proé/ems ewith the internationa/ drade approach?

3. YWow does the W70 work 2o reduce barriers o internadional ¢rade?



